MONSELICEA 6

MONSELICEC 4

RISULTATO SET TOTALE

SQUADRA A SQUADRA X 2 SET PUNTI |PARTITE

A | X X | A A|X]A X]A|X

A |PERARO X |BUSACCA 11| 8 8 12 3/ 01(34|26/1|0
B [SANTATO Y ZERBETTO 11| 5 5 |11 3/ 0133|1610
DP|NEGRELLO-SANTATO |DP|BUSACCA-MAGRIN 6 | 11 9|7 3|2 46|43 | 1 0
C INEGRELLO Z MAGRIN 8 | 11 1119 0|3(23/33/ 01
B [SANTATO X |BUSACCA 6 | 11 6 | 11 3/1139|25/1|0
A |PERARO Z IMAGRIN 8 | 11 11| 2 0|3 [13/33/0 1
C INEGRELLO Y ZERBETTO 9 | 11 1] 2 0|3(15/33/ 0 |1
B |[SANTATO Z IMAGRIN 6 | 11 10| 8 312 1(48|42|1 |0
C INEGRELLO X |IBUSACCA 11| 8 11| 8 113(33(41|0 |1
A |PERARO Y |ZERBETTO 11| 6 7 |11 3/01(33/20(1|0
19|17 317|312/ 6 | 4




